8.1 to 8.3 Quiz Review
Geometry

Geometric mean:
1.  When do we use the geometric mean?  Draw a diagram of a figure that would use the geometric mean.

2.  When using the geometric mean, we are ____________________________________________________.

3.  You should match up the 
______________________ with the ___________________

______________________ with the ___________________

______________________ with the ___________________

4.  You can also use the shortcut theorems for the geometric mean.
Altitude: The shortcut that uses the altitude of the largest right triangle uses the _________________ as the geometric mean.  The proportion is completed with the ____________________________________ parts of the ___________________ of the largest triangle.

Leg: The shortcut that uses one of the legs of the largest right triangle uses the ________________ as the geometric mean.  The proportion is completed with the ____________________________________ ________________ and the part of the _____________________ closest to the leg you used as the geometric mean.

Examples:
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B.  
Pythagorean Theorem:

5.  What is the Pythagorean Theorem?

6.  When do we use the Pythagorean Theorem?  Draw a diagram of a figure that would use the Pythagorean Theorem.
7.  When using the Pythagorean Theorem, what portion of the right triangle is c (the part of the formula that is by itself)?
Examples:
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8.  How do you determine is a triangle is a right triangle if you know the measurements of the three sides?
9.  How do you determine if the sides of a right triangle form a Pythagorean triple?

Examples: Determine if each set of side measurements form a right triangle.  If the triangle is a right triangle, do the sides form a Pythagorean triple?



A.  5, 12, 13


B.  6, 9, 12

C.  
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10.  What type of triangles are 
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11.  If you know the length of a leg of a 
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 triangle, what do you need to do to get the length of the hypotenuse?  Remember, the hypotenuse is bigger than the length of a leg, so you must _________________ the _____________ by ______________.

12.  If you know the length of the hypotenuse of a 
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 triangle, what do you need to do to get the length of the leg?  Remember, the legs are smaller than the hypotenuse, so you must _________________ the ________________________________ by ______________.

Examples: 
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B.  
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13.  In a 
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 triangle there is a ____________________ leg, a ____________________ leg, and a _________________.

14.  In order to find all three sides of a 
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 triangle, you must find the ______________________ first.

15.  If you know the length of the short leg of a 
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 triangle, what do you need to do to get the length of the hypotenuse?  Remember, the hypotenuse is bigger than the length of the legs, so you must _________________ the __________________________________ by ______________.

16.  If you know the length of the hypotenuse of a 
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 triangle, what do you need to do to get the length of the short leg?  Remember, the legs are smaller than the hypotenuse, so you must _________________ the ________________________________ by ______________.

17.  If you know the length of the short leg of a 
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 triangle, what do you need to do to get the length of the long leg?  Remember, the long leg is bigger than the length of the short leg, so you must _________________ the __________________________________ by ______________.

18.  If you know the length of the long leg of a 
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 triangle, what do you need to do to get the length of the short leg?  Remember, the short leg is smaller than the long leg, so you must _________________ the ________________________________ by ______________.
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